# **Notice of Application for Summer session 2023**

We would like to inform you of application for summer session 2023. Please refer to the information below a nd make sure of submitting your application in time.

Application	Submit an application→ Check acceptance status→ Select room→ Make a payment
Procedure	Submit an application / check acceptance status / Select Toom / Make a payment

### 1. Dorm & Floor Information

Bldg. No.	Туре		Gender	Short-term	Long-term	Note
8A	APT	3 pers	F	7F	9~10F	
8A, 8B	APT	6 pers	F	8B 1F	8A 1~6F	<ul> <li>However, the room may vary depending on the number of</li> </ul>
9A	Studio	2 pers	М	2F	6~12F	applicants.
9B	Studio	2 pers	М	-	6~11F	
96	APT	6 pers	М	-	6~15F	- Only some rooms on each floor are
9C	Studio	2 pers	F	1~2F	6~11F	opened (not all rooms)
9D	Studio	2 pers	F	-	6~12F	
90	APT	6 pers	F	-	6~15F	

X APT for 3 persons is one person use one bedroom and there are two roommates.

## 2. Eligibility

- A. Currently enrolled students, students on a leave of absence and students who deferred graduation and language school students
- B. Students who are supposed to participate in school program and get permission from the department in advance.
- C. Exceptions
  - (1) Students who have been punished for violating school regulations
  - 2 Students who were once evicted from the campus housing
  - (3) Students with infectious disease

### 3. Period of Residence

A. Short-term (29-days): 2023. 6. 22. (Thur.) ~ 2023. 7. 21. (Thur.)

B. Long-term (65-days): 2023. 6. 22. (Thur.) ~ 2023. 8. 26. (Sat.)

X APT for 6 persons is two persons use one bedroom and there are five roommates.

# 4. How to apply & Application Schedule

- A. How to apply: Website→ Log in using portal ID and PW→ Applications category→ Application category
- B. Application Period: 2023. 5. 15.(Mon.) 10 AM ~ 6. 18.(Sun.) 11 PM (First come, first served basis)
- C. Acceptance announcement schedule.

	Category	Period	Subject	
First Round	Announcement of Acceptance	2023. 5. 22.(Mon.) 4 PM	Students who apply on	
	Room Selection	2023. 5. 23.(Tue.) 10 AM ~ 24.(Wed.) 4 PM	5. 15.(Mon.) ~ 5. 21.(Sun.) are eligible for applicants	
	Payment	2023. 5. 25.(Thur.) 10 AM ~ 26. (Fri.) 4 PM		
	Announcement of Acceptance	2023. 5. 30.(Tue.) 4 PM	Students who apply on	
Second Round	Room Selection	5. 22.(Mon.) ~ 5. 28.(Sun.) are eligible for		
	Payment	2023. 6. 1.(Thur.) 10 AM ~ 2. (Fri.) 4 PM	applicants	
	Announcement of Acceptance	2023. 6. 12.(Mon.) 4 PM	Students who apply on	
Third Round	Room Selection 2023. 6. 13.(Tue.) 10 AM ~ 14.(Wed.) 4 PM		5. 29.(Mon.) ~ 6. 11.(Sun.) are eligible for	
	Payment	2023. 6. 15.(Thur.) 10 AM ~ 16. (Fri.) 4 PM	applicants	
	Announcement of Acceptance	2023. 6. 19.(Mon.) 4 PM	Students who apply on 6. 12.(Mon.) ~ 6. 18.(Sun.) are eligible for	
Fourth Round	Room Selection	2023. 6. 19.(Mon.) 2 PM ~ 5 PM		
	Payment	2023. 6. 20.(Tue.) 10 AM ~ 4 PM	applicants	

**5. Expense** (Currency: KRW)

Bldg. No	Room Type		Short-term	Long-term
8	APT	3 pers	275,500	617,500
	APT	6 pers	137,750	308,750
9	Studio	2 pers	149,350	334,750
	APT	6 pers	-	308,750

<sup>\*</sup>The expense is non-refundable from the move-in day. If you fill a withdrawal of application for less than 7 days before the move-in day, 90% of the housing fee will be refunded.

## 6. Meal plan

A. Short-term: 2023. 6. 22. (Thur.) Breakfast ~ 2023. 7. 21. (Wed.) Lunch (excluding weekends) B. Long-term: 2023. 6. 22. (Thur.) Breakfast ~ 2023. 8. 25. (Fri.) Lunch (excluding weekends)

	Option	Unit cost	No	Total Amount	Note		
Short term	① 2 meals/day	3,850	44	169,400	☐ Breakfast ☐ Lunch ☐ Dinner  Select two options		
(22days	) 2 3meals/day	3,850	65	250,250	Excluding July 21(Fri.) Dinner		
	③ 1meal/day	3,850	47	180,950	□ Breakfast □ Lunch □ Dinner Select two options		
Long terr (47days	( a	3,550	94	333,700	□ Breakfast □ Lunch □ Dinner Select two options		
	⑤ 3meals/day	3,550	140	497,000	Excluding August 25(Fri.) Dinner		
(	6 No meal plan Please choose the 6 No meal plan if you do not select meal plan.						
Note	<ul> <li>You cannot refund and change the meal option, please choose carefully.</li> <li>Choosing the meal option is to predict the number of meals.</li> <li>Note</li> <li>Even if you choose 1 meal for breakfast, you can eat lunch or dinner, not breakfast.</li> <li>▶ Opening time: Breakfast 08:00 ~ 09:00 / Lunch 12:00 ~ 13:00 / Dinner 17:30 ~ 18:30 /</li> </ul>						
	▶ If you have any inquiries, please contact BTL cafeteria(Tel: 062-460-5112, 5118)						
Refer to the following circumstances:							
Refund	▶ If you have any issue regarding an internship or hospitalization, you can get a refund for more than 7 days. However, you cannot get a refund due to personal reasons.						
riciana	If you vacate in the middle of the semester, an additional " 3 days" meal fee will be deducted.						
	➤ You cannot get a refund if you move out within the last 15 days of the lease period.						
	➤ You should In these cases above, you must submit a certificate.						

## 7. Medical check-up

- A. Subject: all the residents of summer session 2023
- B. Period: Before the Move-In day (The result of medical check-up is valid for one year)
- Fee: 3,000 KRW
- Place: CNU Health Center (on the  $2^{\rm nd}$  floor of Student Union Building No.1
- X Students with active tuberculosis, infectious hepatitis, infectious skin disease can move in after being cured

### 8. Note

- Students who are residents for long-term of spring 2023 do not need to apply for summer session.
- Once you choose the room, you cannot change the room.
- The application will be cancelled automatically if not to select a room and make the payment in time.

- All information contained in this document may be changed without any advance notice.
- All notification of the living hall will be sent by '전남대 스토어' App Notification, please install it in advance.

2023. 5. 8. CNU Residence Hall